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The figures
for the questions

SECTION—I
( Inorganic Chemistry )
( Marks : 20)

1. 3% TG 7fs Sfered : 1x2=2

he correct answer :

Select t
{a) [Co(NHS)SCl] Cl,® Co? &[T WA 2
The oxidation aumber of Co in
[Co(NHSJE,CI]CIQ is
(i) +2 (@) +3
(i) +1 (iv) +4
| ( Turn Over )
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— A

(2)

(b) PClg IF TGS T
The shape of PCl5 molecule is
(i) v
" tetrahedral
(i) 3T TSR
square planar
(i) fag&a Rt
triangular bipyramidal
(iv) BTN
octahedral

2. R PIERA Teg fal :

Answer the following questions :

(@) TUPAC 7 fori (R e wt)
Give the JUPAC names (any two) :
() 1ZnOH)4)*"
i) [Cr(H,0)4Cly]Cl
(iii) [Colen),NO,),]Br

(b)
3 |
Draw the geometrical
[Colen),Cl,]" ion.

isomers
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2x4=8

1x2=2

[Colen),Cl,]* SRR SRR SRR

of

( Continued)

(c

(d)

3. g

(3)

VSEPR &9 *A1 NH; SR SIS gRM #1112
Explain the shape of NH3 from VSEPR
theory. ’

oo FRIARS Tor 9 T - 1+41=2
Draw the resonating structure of the
following :

i) co3”

(i) SO2"

oprAreq s fia (R G 1) 3x2=6

Answer the following questions (any two) :

(@)

)

P/ 1174

el @ 99 (VBT) SR NCN4I*

WWWWW#WWI
2+1=3

Explain the geometrical struc;:ure and
magnetic property of [NiCN)4]*~ ion in
the light of valence bond theory (VBT).

olecular orbital energy
molecule and determine

diagram of O2
gl rty and bond order.

its magnetic propeé ,
( Turn Over )



(4)

(0 «Feds Brne 9 i Pme R w0 @
T TR A A TS o 1+1+1=3

What is ambidentate ligand? Write the

name and formula of
by such ligand, formed

4'Wﬁ§ﬂ@m3ﬂ%3‘ ‘
SCE G O a3 S SF 1 ST
ox2=4

Give - the fo
. . I'Inula an .

(@) if@.ﬁ,q.
EDTA

B s-hrgeren

SJQKEOXW$ﬁnoﬁAe

one

ST /Or

3 42 :
sp>d* - e B
W ? VSEPR: ©§ SR
SFe S SRS I T4 | e )
. +2=4

What d '
at do you mean by sp3g2:hybridization?

Explain the shape of S
F .
help of VSEPR theory. 6 molecule with the

4 :
24P/1174 ( Continued )
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(5)

SecTioN—II ~
(Physical.Chemistry) "
. (Marks:20) . = .,

S. @iﬁ.m ﬂﬁ%ﬁ@l : 1x2=2

Select the cdrrect answer :

(a) WWW&%W@WW

R R X

The number of atoms per unit cell in

a simple cubic crystal is
i 4
(i) 2
(i) 8
(iv] 1

(b) wmwzﬁ

Which of the fo
solﬁtion?

’a’ﬁ?

uowmg is a mixed buffer

@) KCl+ KOH
(ii) NH4Cl+KCI
(iid) NH4C1+NH40H
(iv) CH3000H+HCI

( Turm Over )’



(6)

(7)
6. o AR e o =8
o 2x4 7. oo opqA Yed o (R @) : . 3x2=6
An the f ing ions
swer the following questions Answer the following questions (any two) :
(a) ﬁﬂﬁ’@g&?{ﬁﬁf{ﬂ?qﬂﬁww (@) FoR FAFIRH AT FAL 3
Y ia 4 S IHP ﬁ%ﬁl;?f“ | Wll - ) Deauce Bragg’s equation.
mqﬂa ‘aq'q ﬁw“§ +1= . ',
What d : . l (b) T AP TIRPR TR o : | 1%+1%=3
at do you mean by Miller indices? i : i
following terms with
A crystal plane has intercepts on the i)x:ﬁ;elest}'le - g' v
three axes of crystal in the ratxo-:i 2:1 rampEs
Determine the Miller indices of the U o o
plane. Axis of symmetry
b) Tfom #ae whw o s afn w1 2 (i) @ rafe.
Desc1:ibe briefly the structure of sodium Frenkel defects
chloride crystal. () T4 oS HAT IE O AP0 AT
. ' 3
(c) S 2SR FIF A ? CH,COONaT T _ Ralk , tion f
R e — 1412 De:;:ce .dtg; following equaton lor
weak aci : /
What is common-ion effect? Explain v 2C‘ '
why the aqueous solution of CH 3COONa Ko = 1 |
is basic in character. ¢
(d) 298 K ®3eTS AgCH @RI® 1.6x10~3g L1
: where

o% TS AgCl3 T @ Pfy w4 | 2 o = foereR Rere 1l

A v
t 298 K temperature, the solubility degree of dissociation of the acid

of AgCl is 1-6x1073 g L-!. Calculate

the solubility product of AgCl at this = R #3F
temperature. ' dissociation constant
C= AR ST
24P/1174 : ( Continyeq ) molar concentration
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(8)

‘8. (@) () TF @R AR FHT wA I T2

1+1=2

What do you mean by unit cell and
crystal lattice?

m)WWﬁ?‘?ﬁmew

e 0 1+1=2

Whatc are liquid crystals? Give two
applications of liquid crystals.

33T /O

(b) ITR W I & @22 e ?
? ACOFE
GCFORF T A W 3Req pH 1 FIR

IR
RERTR TNFIIR e | 1+1+2=4

What is buffer solution? What are its

typ.es? Give one example of each.

lﬂazlite the Henderson’s equations for
culation of pH of buffer solutions.

24P/1174 © ( Continued )

(9)

SectioN—III
( Organic Chemistry )
( Marks :20)

9. w5 Tewh b SRS 1x2=2

Select the correct answer :

() o T (AT TR (T R
Which of the following compounds has
chiral centre? . - ‘ )

@i 4 "o -2- 4
Propan-2-ol
(i) 2- P O A
2- ammopropane
(i) 2-TRG el o’ 4foe
2-hydroxypropan010 acid
(iv) 2-3’51’3"3"17!
2-bromopropane .
(p) 2-REbw iR W B RN QD!
£ ' C
The ozonolysis product of 2-butene is
(i) fe5m’7-2/butanone-2
(ii) fAieh/butanal
(i) ‘sqreeel/ ethanal
(iv) 9’94’4/ propanone

2 :
4P/1174 ( Turn Qver )



(10 )
10. SR PIART beq P ;o 2x4=8
Answer the following questions :
(a) SRORT sy Smeaier wems 341 | 4

Explain the isomerism in tartaric acid.
(b) ﬁ%ﬁm-mezWﬂwﬁ@qmmn 2

Write the structural formulae of E and Z
- forms of butene-2.

(c) 1’ ﬁ@#ﬂ'ﬂﬁ ﬂ'“vff 1 : . 1+1=2
Complete the following reactions :
(i) CHz—CH=CH, HBr/Perom'de 59

. Br
(i) CHs-—CHz—LH—cH:,. KOH alc. >

(d) 2T TP Wiz s wfoq, forat : 1+1=2

Write. what happens, with necessary
chemical equations -

() 2PRR 7Y wF By KMnO,T TS
Rieen *Re= -

Propene is treated with dilute and
alkaline KMnO,,

@) BF g3 oTe 2,3-whevREEH
Rt <Rz

2,3-dibromobutane is treated with
Zn metal

24P/1174

(11)

11. oo epamd G faar (R G 1) - 3x2=6

Answer the following qt_1estion‘s (any two) :

(@) ‘s o g Rowed e
’ﬁf{ - 2+1=3

teriﬁs " ‘conformation’

onal 'analysis’. Draw
most stable

Define the‘ .
and ‘conformati
the structure of the
conformation of butane.
o’ S SR W W

(b) HIFTLIW o

fofes :: | . : 1+2=3
Draw _the ‘chair’ conformatfon of

- cgclohexane and show the axial and
equatorial H-atoms of it.

“ 1+2=
' llowing reaction.
lete the fo . ‘
gz:::i)ibe the suggestive mechanism :
" HB
CHz—CH=CH2 —=?

' P

12, (g @ REem &= LAl mat;;cw $

Ay R TLATOPTR

faan | 1+1=2

Draw the different  possible

conformations of ethane molecule

with the help of Newman projection

formula and give their names.

-{ Turn Over )
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(12)

(i) <1 o A vedRRe aved
R ST C 3H O, Br. ARSER 7o
s frql WF [UPAC 7@ fordi | 1+1=2
Molecular féfmula of an optically
active monocarboxylic acid is
C3HgO,Br. | Write down the

_structural formula and IUPAC
. .name of the acid.

%41 /Or
(b) o R oo = - Yax8=4
Complete the following reactions :
" (i) CHz—CH=CH, O3, - Zn/HO 5 5

o ‘ 'Fe-tube
(i) Cl&},ECH - "heat €

(iii) CHy—C=2C—H - Hg?* [HaS04(dil) |

Br Br

. NaNH»
: Hz—l:ﬂ KOH alc. - —> F
) 2 A Tiq. NHa

NaNH2 : CH3—-BT H
H.C—C=CH > —
() HC—C=CH gy ¢

* %k
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